Repeuted Addition

P

(1) Add.

(1)

(2

(3}

(4}

(5}

(6}

(7}

%}

(e

(1al

[

Nz

btbtdm

b+b+b+b=

bh+hth+h=

btbtbtbtbrb=

btbh+b+b+b+b+i=

Gtb4+bdtb4+b4b4+b4+4=

E+5+5=

5+5+5+5=

5+5+5+5+5=

5+5+5+5+5+5=

5+5+5+5+54+5+86=

5+5+5+5+5+5+5+5=
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Multiplication 2X

P
! i

@ Fill in the missing numbers in the boxes below.

o @-E-E-E-0-0-0
() [&]—[6]—[8]—{1o]— |- ]|
@ [6]—{8|—{to]—f1z]—{ |- || |
o B1--1E-F-]--0]
() [10|]—[12]—|1 &—{16]—| |—| |—|

Trace the numbers while reading each sentence below.

Then read the times table on the right. 1 poit per quesion
o 1.v.wlimq.rlvnnn-'nnvn ~Let's memorize!

b T.;\cu.rim;mnhﬁcu. The 2 Table
(3Y 258 = 22X | =2 Twotimesone is wo.

T s thre i pix P?HP2=48 Twolimes wa is four,
(4) 2 _"'l :" ) 2X3=§  Twolimes three is six.
(5] T":W_Thm“:ﬂt PR LE =8 Twoiimes four is eight.

Yoo s v s bor. 2x5=|0 Twotimes fve isten,
(&) Z2XE 2 2Xb=]2 Twolimes six is twale.

nghm?““m' 2% T =14 Twoiimes seven is fourteen,
V7 ,Wh;mi%mm. 2XB=|6 Tootimes eight is sidesn.
(g8) 2 b & 2XG=|8 Twotimesnine is sightesn.

'|mhmei3i‘rrulimen.

(?:‘ . i 5

Tws s AinG i dighleen

Let's keep Irying o |
memorize the twos
times fable together! | : :
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Fill in the boxes while reading the number

sentences below.

(1) 2% | =|

Toaws Timeis ona 15 Twg

£ FxP=

T timees. hweo is Four.

(3) 2x3=|

T timeins thres is s

(4) 2x 4 =|

T fimams fowr is lighr

(5) 2X5=

T firroiss. five s e,

(@) multiply.

(1) 2xX 1=
(2) 2x2=
(3) 2x3=
(4) 2X 4=
(5) 2X5=

(6) 2Xb6=

2 poins po queskon
(6) 2X6= .
Tt timas sl |3 Peenlve
(7) 2xT=
Two times mﬁwrﬂm
(8) 2x8=
T timas aight is s-.dun.
(9) 2x9=
T timas nir is lighlll'n
(0 2x3=
T tirmas three is six.
3 puits pm yoviion
(7) 2X7= (13) 2XG=
(8) 2xB= (14) 2x 2=
() 2xX9= (15) 2x 4=
(o) 2x3= (16) 2X 6=
(1 2x5= (17) 2x 8=
(12) 2X 7=

Good job procficing your twos times tablel
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Multiplication 3X fivr
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@ Fill in the missing numbers in the boxes below. Fig

v [3]—{e]—[8]—1Z2— - -]
(2 [6]—[9]-[12—[1g—[ |- - |
) [9]—[12—[1g—[1g— - -]
<o) [1g—[1g—[rg—21]— |-[ - |
<s) [18—[1g—[21]—[24— |-[ -]

Trace the numbers while reading each sentence below.

Then read the times table on the right. | e ot i
(1) 3HI=3 .
Thies rimas cne s fhose: ~ Let's memerize!
{2) dxZ2=6 The 3= Table
Thres dimes two (s He
(9] 3% 3t 3X | =3 Torestime: oe is fires,
| S — FE P Theos timas fwo s sbe
(4) 3x4 ;:'.' M3 =9  Thewa limas e i sine.
Th""l'_.h“f_m Fx b4 =12 Thestima ke is bedba.
Axh 1 5
i Threm v v i 3x5=15 T tiras live i fifiean,
(6 3xbH=]|8 AxbH=18 Thepe Himes six Is eighiven,
Thiw ir_rd’hi’w“' AxF=21 Thrse fimas sevan |5 fwentypone.
(7} T:r;‘u;u;;hmmm A B =245 Thes imas aight is twantpdour.
(B} AxB=24 Ax G =2T Thess B s is wantpiavan

Thros timas sight is hawshyfiour,
(9} IxG=37

Thrae timeas nine s bannhy-umesn —_—
Let's keap rying o L
marmerion tha threaes '_':_-_-.
fimes toble ogetherl [~
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